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PART-A-General Knowledge

Which one of the following hormone involved in retention of water in the body?
a) Thyroxine b) Vasopressin c) Oxytocin d) Adrenaline

B HHEMILUBDWIGT 61HH QBTTOTE B 2 Ladlsd BT HiBlisHe bleTsimadled
F(hUL_(BeTTsTanl?

a) an&HFmaendedr b) eurGeromiyerbentieir

C) oidben)@Lmdlen d) <o fereder

Which plasmodium causes “Black water fever”?

a) Palsmodium ovale b) Plasmodium fal€iparum

c¢) Plasmodium malariae d) Plasmodium vivax

abs UenmertBotuidsmev “smbT sTuuFssd gnubhaing?

a) Uemmaro@uomguid ¢BsuBsv b) JemmerbGiompund . .umeddBuyiD
¢) Uemmed@romiguwid oGeofiuwim d) vlenmeroGompuid eneuedTaHeTD

Nyctalopia is due to the.deficiency of

a) Vitamin A b) Vitamin D c) Vitamin E d) Vitamin K
LOMsM 6V 6MI _ GHTUL 614601  @HMMUTL I960T6L  6JBLIH&HIMSHI?

a) emaul Lidleir A b) emeu’ L lest D ) emeul L fledr E d) emeul Lwletr K

In human, cholera is caused by

a) Salmonella typhi b) Yersinia pertis

c) Neisseria gonorrhoea d) Vibrio cholerae

&l &Haned &STeofT GhTemuwld CHTBmeld@Gn GG
a) FTELLDTETEL6VT emL Ll b) emdlaflwm GQusbigerd
c) mleBsflwr Gar@emmfiwm d) alufiGwr smeuly

The osteosclereids are seen in

a) Seed coat of pisum b) Seed coat of crotalaria

c) Pulp of pyrus d) Petioles of banana

a0 Buumervdleteny(h sraoliupld LGS

a) ulLrewflullelr allsnsuienm b) &Grm L Gsuflur allensuimm
c) GuflsaTuier Hengd &Hla d) euremipuiemeoulled &HTLDL]
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In Brain visual area is located in

a) Occipital lobe b) Parietal lobe

c) Frontal lobe d) Temporal lobe
epemeTUien UTTeneull UGS e1al?

a) L flé sz b) o #4& &zNN]
c) GmMMles &I d) Gur(bsé &HIILY

The Headquarters of Servants of India Society

a) Pune b) Mumbai c) Allahabad
@B UeHTIWITEIT FhiSSH S HENVENLOUISLD

a) e b) apibenus C) SGLGBITLITS

The title Sakari was assumed by

a) Chandra Gupta | b) Saudra Gupta

c) Chandra Gupta Il d) Kumara Gupta
gnaif| oleiim el Il GUwenyd 6T 6uirL e

a) (p&Heomd FhFly GUBHT b) Fwdalr GUST
C) @pewiLmd FhAy GUSI d) @I GUST

The last Mauriyan king was

a) Kunala b) Dasaratha ¢) Pushyamitra d) Brihatratha
Gsmiiuit Guyydleir &emL_&F Dyt wimT?

a) @emee b) sgrger C) uagublgy e d) Umpssrgei

Who was known as “Lakh Baksh”?

a) Qutbuddin, Aibak b) lltutmish
c) Balban d) Raziya
“ouTds. LIS6Y 6160l DIeNIPHBLILIFLISUT WmiT?

a) GoLeh |MoLS b) @svpiad
C) Um6sLLIGHT d) Gyendlum

The capital of Magadha was

a) Rajagriha b) Ujjain c) Kosala d) Kausambi
DB HEDH 6N HEMEOHBFLD -

a) T msd b) 2 shengauie c) Gsmgsuld d) GsemambLi

Who proposed five kingdom classification?

a) Carl Woese b) R.H.Whittaker c) Aristotle d) John Ray
MBHIVE QUMBIUTL Nl (LPeiGLomHhgH T
a) &ned Beumulied b) R.H.&llBL&sT ¢) aiflebim’ igsd d) sqmenr Gy
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The Kohinoor diamond was taken away by

a) Ahmed Shah Abdali b) Nadir Shah

¢) Shuja-ud-Daulah d) Najib-ud-Daulah
Gamflenmt emeuysHemad si(hHHIF GlFsmmeut wimm?

a) SIBHI-ORT-SIHTE b) mrdir egr

C) admr-2_&-6lsemeor d) Bdl-2_&-Gixeneom

The famous physician of ancient India was

a) Nagapura b) Asvagosha c) Vasumitra d) Charaka
UemienL_ Ul @h&Hwmeled Lspbleds 1mHHIaTTed MilennibiuelT

a) BIHLITENIT b) oiFaCHTaT C) Q&IOS HTT

waves of the Sun are perceived by the skin as heat.
a) UV light b) Infra-red c) Gamma d) Beta
Gl - &®sHlTHemem BHTs0 LleiliioTes o amiTaBasl
a) uUp 2aHTE HITEHET b) swsdaliysF s8isein
C) &mom &S Tdei d) ULr sdirse

There are numerous industries in the places such asVaniambadi, Ambur,
Ranipet in Vellore district.

a) Tanning b) Silk-weaving c) Sugar d) Cement
Gausurr™ 1oTRUL L HBH6VI6TEN  SUTEMIULIDUITI, SHDLLT, @msnlliiGun’ sn sl

B BIFH6TED BITHMISHEMBHTE —=—— BT BFTENOHET D _6IT6TT6.

a) Bzmed LGfFHeDL b) up ObFsy

C) FioHBMY d) FGwswr_

The river which is involved in the dispute between Brazil and Argentina is

a) Laplata b) Orinaco c) Congo d) Mississippi
LCr&as@GLl TomsiganmalB@GD @enLGul 2 6ien LjFFmenibsGNu ml --—-
a) eomtNenmiLm b) eflenmBasm c) ®&mhIBasT d) wleroendlendid

The sea tunnel Railway line beneath the England Channel Connects the two cities
a) Paris-London b) Oslo-Copenhagen

c) Stockholm-Hamburg d) Cairo-Athens

SYRIBenE STevauTullemguied GlFOsID HL6VIgH GemLe aupl Byuied
CUTHEGUTHSH GemeSEGHID EBTeni(h HhBJMIB6IT --—- MDD ---

a) umflero-@eveoirL_edr b) =yerGeur-GamiiLishE sames 60t

c) eroLm&EBammb-GamibLiTd d) O=suIByT-58xhehiery

19. Pulakesin —Il defested Harsha Vardhana on the banks of the river
a) Yamuna b) Narmada c) Godavari d) Ganga
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@iyemiLmd LUsSIGHd| -—-——-— HBBRISMIUID BTagITHHamenidh CHTBHISHHTT.
a) Wwi(Lpement b) miroens c) Gangmeufl d) smmE

When was Kalinga war held?

a) 271 BCE b) 261 BCE c) 251 BCE d) 241 BCE
SedmslCUTT emIBurasl mLGILBMS?

a) Gumey.w.271 b)) Gur.eL..261  ¢) Gur.sL..251  d) Gum.sy.up.241

The World’s largest river plain is

a) Mississippi-Missouri b) Ganga-Brahmaputra

c) Narmada-Tapti d) Uruguay-Paraguay.

2 0aBsBw sl Guflw =BmIF Fwbeuslast - FwbaisTasTTEGID.
a) wererdendin -6 el b) snienas-LyibwLSHEIpT

C) HBITDNSH-HLIH| d) 2 ®m@6a-urTEGe

‘The Gateway of Tamil Nadu ' is

a) Mumbai b) Thoothukudi c) Delhi d) Chennai
‘HLOpHHBHl60  HIeDLpUTUIE 618517

a) (plbemL b) S&F&&IEGIH c) GLsvsVl d) GaFeitement

Plan Holiday —Period

a) 1956-1961 b) 1969-1974 €)1966-1969 d) 1961-1966
‘L alpupens &meold’ 6187

a) 1956-1961 b) 1969-1974 c) 1966-1969 d) 1961-1966

Indian Railway provide Wi-Fi facility in India is Railway Station.

a) Chennai b) Bangalore c) Delhi d) Mumbai
@nalu. GrulleuBer (W&sipHedes Wi-Fi sugsHenul ~—- @guiled mlemsduidasv
& T RIS

a) GlFsiTenen b) GumkisEHm C) GlILsbs\l d) @psmu

The concept of ‘Quasi-Rent’ is associated with

a) Ricardo b) Keynes c) Walker d) Marshall
‘Bumsll euTTID’ 6163IM H(HE S WTHL T OlHTL T Wig)?

a) MaasnT@Lm b) aererd C) GUTHBT d) wriragsd

El Nino and Lanina Currents are referred as the Children of --- ocean.

a) Atlantic b) Pacific c) Arctic d) Antarctic
6160IH60I GLIT-60MHENGLIT  HEYTL L MIbsil GumRISL 660 @HLDIHEN HSH6TT 616l
DI B ILI(H &5 36T

a) I eomenngd b) uenfiil& C) &THYH d) oiem_mmgs
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Good Fishing grounds are found in the — part of the ocean floor.

a) Continental slope b) Ocean trench

c) Continental shelf d) Ocean trough

2 sudleln WaF Fmbhsa e UigsdHenmissT &L svle Hevd @CsHTHBmLOTEN ------
UGSHIUI60 &remrliLI(faslammer.

a) ®meawil F gile) b) GummsL s @il

) &L HLB d) GumrisL e B

Chennai is also called as

a) Detroit of Europe b)Detroit of Asia

c) Detroit of South India d) Detroit of USA
Glgeilensdl - 6ledaD 46N SRS BSI.

a) :Grmiumellesr Gl gmui’ b) syflurelledr GLymuin_
c) Gxamanbswralar G grun. d) USAaler Gt gmun”

Consist of illiteracy was related to which problem?

a) Infrastructure b) People related

c) Leadership related d) None of these
Sevalnalleiienio THeIL 6l GBI wl LyFFamen?

a) 2 51 &L LemipolIL b) 105 &6 ST LN W
C) HMeLEMID &FTH d) @simnled BiFHIa|LolsdemeD.

Example of small scale industries.

a) Soaps production b) Cement production

c) Iron production d) Pottery production

Fm QHTPed HBIeueTmIGEHHBTEN 6f(hHHISHT(h

a) Gamiy Huaril 5860 b) #Fowew HwimflHamed

C) GIMIDLY ST &HHs0 d) ol urswi_miseit SwimfldHged

GST stands for

a) Goods and Supply Tax b) Government Slaes Tax
c) Goods and Services Tax d) General Sales Tax

GST ulleir ellifleuné&ID  ----mmm

a) 575@ womIb ey euf b) awa alBumen sufl
¢) &165@ wnpib Cxemeu eurfl d) Gural elBusnar el

Who is the father of statistics in India?

a) P.C.Mahalanohis b) A.M.Khusro

c) Dr.Vijay Kelker d) K.C.Pant

@bl ysierluilwisden SHbhend sl60mI SHenIPHSUILIHLSUT LWITT?

a) P.C..os606mmilerd b) A.M.gsr0Gym

c) Dr.allgmul BGassvait d) K.C.ubsdh
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Indian rupee was devalued —times since 1947.

a)3 b) 4 c)2 d)1

Gnaw epumdl 1947-Ge0mbBaE ——— @pemm WHIIMEHED  GlFuIuiu L gl
a)3 b) 4 c)2 d)1

Human Rights Day celebrated on

a) 10" December  b) 10" March c) 25" December  d) 15" August
‘el o Memamer slend GamemTLLILED HT6

a) wabur 10 b) & 10 C) aFuT 25 d) eymeo(p 15

The Tenure of Municipal Corporation Mayor is years.

a) Three b) Four c) Five d) Six
wibsyrTl 4 Guowiflell LSl sHiIeulD S1,6001(H &6 G LD.

a) tsimi b) Brsii& c) &bl d) <o

Which is not International body?

a) SAARC b) UNO c) IMF d).IHRC
BHIDHHOLUBMIGT TH 2 608 DEMIOLIL] @evene0?

a) Fits b) m&a BI(HEsT HIHD

C) ueherm_(h HF HIIGUGTD d) usirenT B 0eME ©_Mennd sLpaHiDd

Who said the theory of ‘Non Elitist’?
a) Karl Marx b) Lenin c) Stalin d) Mao-Tse-Tung

‘o _witgy euglilenm oeven GmrUTL 1generd gnniwenit wirir?
a) srited 1oNTdem _amb)Glavsoier ¢) eroL_maSlesr d) wr-Bs-gymi

In which year:ithe Family Court Act was formulated?

a) 1985 b) 1984 c) 1980 d) 1982
@bl HEH DHIBHIHT 61hH U([H SHleUHBUILLL FHi?

a) 1985 b) 1984 c) 1980 d) 1982

Agricultural income earned in India is

a) fully taxable b) fully exempted
c) not considered for income d) None of these
Bihaslwmealsd GeusTTaienld AUHLOTEND  6T6ITLIG]

a) upapsusid eufl el BE&G UL

b) wwpaugid aufl ellevsaBELULL &I

C) UHLOTANDTHS  H(HBHLILIHEUFHE06m6V

d) @eumniev eidHIRLeLENED

40. The book ‘Wings of fire’ is written by
a) Indira Gandhi b) L.K.Advani
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c) Manmohan Singh d) Abdul Kalam
‘SibNF FABSHEHET  6I6IMB BTNV 6T1DHUINT?
a) @bagr &1hs  b) LK. .oisHeurent C) weiiGurssr Fmkl  d) SIIGIELSE0MD

‘B0z wopaled QUTWSID aF FLRiGsEpD Caewim — &8s 2 s,
2IUTEM mlemmBaumdF GlFuiIseuT
a) umyaSuwimir b) urya sras C) G 6NT6mT & TE 60 d) apgwiyssir

gm HapausHsv uBPw @iy @b GuBmsiTem Fhis GeubdI  HIT6
a) uflumr_sb b) &60506HM1enS ) GmHHsLeUTENL d) ugkBBIILSSHI

‘@bWwuD’ sTeid CFTed (IpHeT (PpHedlsd B 1b QubB HI6D
a) Osrevsriiud  b) mmnslenewr C) DIBHBIEMT) d) &maEmel

“Greal0ard He08am; amEA0aMD SHelimu’ - B&0HT M ‘Sevsr aab GFms
o _aM&HHID OILTHeIT
a) wmpsd  sme b) Gurité & mal C) B&HE Hma d) Gauerimesit smell

“‘dloond elehieniD @b amengéh Obiisved EemD oleiisnild  eIDLT LsmenienLF &HBHD -
Bla@metsy B GUMBIETET  Dis0N

a) GeauBmiemin iemfl b) 9885 o _Mals oiewi

c) BysbmlenT  iemwi d) eiBGaISHSTLB 2 _cuend 60

‘SIGILIGTEN  SUDIDT — 6160 BIFGDEOLE LisDL & SH6UT
a) Amul umsvaILIToeu D b) @allerT p.CosHmT
) SiiT.LIT6VES! (HELMETOT60 d) &allEhT &JHT

“apyS OB UIBISHmEHS CHle EIHIH HIPaIsL, BILSHHMS EHwiBnSiuieuT
a) @p. \@gmiosFTd  b) Gz, wr_gmd c) Gz.@ymorenigmid  d) GEowisnhaser

‘SOIPL uFijevadlen Heneolnser eteim GUTBBHILIHLGT
a) Q.98 sililleenen b) (w.eugsynFeTiT
c) #.emau.sTCLOTH 6T d) urygwimi

Choose the correct question Tag.
Ajith seldom speaks in English.
a)didhe ? b) didn’t he ? c) does he ? d) doesn’t he?

Choose the correct passive form.

‘I speak English.”

a) English is spoken by me b) English are spoken by me
c) English is spoken by | d) English are spoken by |
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Shivani wears a belt around her _
A) waist b) waste ) weist d) weste

Prefix for the word mature.
a) unmature b) dismature c) premature d) enmature

Use the correct word
Look, Shantha is going to ___from the table.
a) sleep b) slip c) steep

Choose the reported form of :

| said, “Where are the boys ?”

a) | asked where the boys were b) | said where the boys are

c) | declared where the boys are d) | exclaimed where the boys were.

Choose the sentence in simple past tense from the following:
a) She worked yesterday b) She was working at 9 a.m. this morning
c) She works d) She is working right now.

The rank of a zero matrix is

a)o b) 1 d) oo
UFFw Siemiiuler Sy

a)o b) 4 d) oo

Value of logs5 log,27 is

a)3 b) 2 d)
logs5 1085 27-601 oy

a)3 b) 2 : d)>

Mean and variance of binomial distribution are

a) nq, npq b) np, \/npq c) np, np d) np, npq
FOBIOLUL ursuelenr grraf WBMID UTeumLIgQ

a) nq, npg b) np, \/npq c) np, np d) np, npq

The value of [3] + 44 ([S] +1 [6])is

a) [0] b) [1] c) [2] 4}
[3]1+ 11 ([5] #44 [6]) —e0r 08I

a) [0] b) [1] c) [2] a)ia
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If |d| = 13, |b| =5 and d-b = 60, then the value of |d x b lis
a) 45 b) 35 c) 25
|d| =13, |b| = 5wippid d-b =60 aefsd |dxb| s wan
a) 45 b) 35 c) 25

The adjoint of the matrix [S E]is

a b —-a —b
A) [C d] b) [—C —d]
[‘; 3] ot oenlen Gaiy Sien
a b —a —b b
2) [c d] °) [—c —d] ) [—c a]
Momentum of a given body is doubled. Its kinetic energy becomes (mass not
changed)
a) dobled b) four times
c) halved d) Remains the same.
RM CuTmaTedr 2 HFH G WLBISETE DHSTELBHL HCUTH DH6T Buidhs
2UBBO (B MBTS CUTSI)
a) @@ LBISTEID b) BT6iI@ | 0L RiGTE LD
C) urgWImTE b d) s

If the temperature of.a liquidiis raised, then its surface tension is
a) increased b) decreased

) equal to viscosity d) Does not change.

@@ mIwHar LleuliLplensy DFHHTHHTE0, SiHe LUFlL Supslens
a) sysiis i b) @emupbd

C) unalied  sTeniTamIch @&F FLOLD d) ionmrE

In a closed organ pipe, the frequencies of harmonics are in the ratio
) B o s [ b)1:2: 3t 45 €)1:3:5:7 d) 1:9: 25:49: ......
APl SUTHT GLoTUiled, CoBeImiGsien D13 ToleuemiHeTIe &HH6)]

) 1 G 5 [ b)Y 1:.2: 347 c)1:3:5:7 d) 1:9: 25249 ...

The ratio of velocity of light in air to the velocity of light in medium
a) dispersive power of the medium

b) dispersive power of the air

c) refractive index of air

d) refractive index of medium
STMls eriuiler Hlengd CausdHHBEHID, 26 HHIH6 @eMule Heng
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CouampdhHm@GHID 2 66N HbH6
a) 2anL_sSH &6 L1flgmeir b) smmnflesr LNMSimedr
C) smlei 61l e)levdsy 616000 d) 2m_sdh a6l el elleudsd 6I6m0I

A card is drawn at random from a well — shuffled deck of 52 cards. The probability
that it will be a spade or a king is
a)= b) ¢)= d)
52 13 26 26
hell@ HMHH DhHd maussiul L 52 £ (hamens Glamenr
FU(bdaL 19e0mhal FI0 surulliy (wenmullsd @M (b abHEILBDHMH. AhHHF
FL(p sroCuLrsGsur (Spade) asvsvg Grrarabaur (king) @muusBaETeT
b\ 51D E6Y

17 4 9
8)5 b)E C]

B d) =
26 26

A die is thrown twice, the probability of getting a total of 9is
4 5 2 1
Q@ FgTen USML GHIPmB 2 HULUUBSBH. (1P  6lenimEeIal &n(hdHsv 9
SHIMLLILIGBEHTEN BB HH6]
aj = b) > ¢ d)=
9 9 9 9

The compound found in some stony deposits in kidneys is

a) Oxalic acid b) Potassium oxalate

c) Calcium oxalate d)Aspirin

FmBISEHDHle0 B0 Curaiml Swsmtiupd Gsmod
a) oHFTdS Sueotd b) GumLrdlund sHFG6euL
c) snebdAlb HFCeul. d) erouiifled

“Bucky ball” is'an allotrope of element.

a) Tin b) Carbon c) Sulphur d) Phosphorous
“‘Léd LTeL” eTeTLIG SHdlsr LmBsuBmIeny g eulDd

a) Gleusiterfud b) smirLisn c) gebuit d) urerbuyerd

The element used in Pyrotechnics:

a) Barium b) Calcium c) Berylium d) Magnesium
W&HSHTILS GHTIPeSsL LIWETUHID SO

a) Guflunb b) smsvdluib ¢) Guifleduid d) Guodsefdlub

alkali metal is used in photoelectric cells.
a) Li b) K c)Rb d) Cs
&7 2 Beurdld @6l WlaisamiseaTsy LLTLIBSHSHILBS MBS
a) Li b) K c)Rb d)Cs
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Which element is used as moderator in nuclear reactor ?

a) 5511 b) 5810 ¢) 6(:13 d) ?Nm
Sieml 2 smeudeisy WL (HUUBHSHWITs’ LwsiTUBID &Henon  s1a17?

a) 5511 b) 5Bm ) Ecis d) ;;NH

The principle used in lightning conductor is

a) Electro — magnetic induction  b) Corona discharge

c) Total internal reflection d) Ohm’s law

Wleensy B G & Herlled LIWLIGITLIHID HdHEHInID

a) el HMHHH HITEHIIL 6D b) @efleu’ L 10seflimdasid
C) (1 2% 615\6FTeriiy d) @uler elg

The energy equivalence of 1 \V is

a)6.606 x10°*)  b) 931 x 10°) c)1.602x10*°)  d) 6.626 x 10}
@@ elevdl gramr Geumevl. (eV) @& Fwiworar summed

a)6.606 x 10>*]  b)931x10°) c) 1.602x 10*°J  ¢/d).6626x 10}

Which of the following is a long day plant?

a) Tobacco b) Sunflower c) Maize d) Wheat
beil LIBeY HTaUJHAHBE 6lhHIbsT (HT

a) yemsuieney b) &b C) w&saEnFCamend  d) CHmGIenD

The unit of genetic map is

a) Morgan b) Locus c) Metre d) Centimetre
IDJL] QIEDTLIL HFH & D& _ sTenTlILI(HLD

a) Lo &6 b) Geumaserd c) L d) OFeing O LiT

An example for synthetic auxin is

a) IAA b) PAA c) ABA d) NAA
Cewmmne HPHImabGE @ slhHHGETL(H

a) IAA b) PAA c) ABA d) NAA

Which pathogen causes Tikka disease in groundnut?

a) Cercospora personata b) Pyricularia oryzae

c) Xanthamonas citri d) Tungro virus
BlevbHLmeuUlsy 19bHT CHTenw 2 (Heurdh@G Guruuifl srg?
a) QEFBsmeroBuryr Guire@srr b)) enufl@Geomfliur genyGs
c) amiH8sr Gmarmerd Fii d) mmByT ensuyerv

79, Proteins on hydrolysis gives
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a) Carbohydrates  b) Ketones c) Amino acids d) Carboxylic acids
UTHMmIGmeT BIMTHB UGHHHT0 Sl SHHmal.

a) sITCUTeeMIBTL (Hab6iT b) &1 GLmeirsHei

¢) oIOGemm DSlevmis6iT d) sntungdedd  Dblevnidssit

The inherent potential of any living plant cell to develop into entire organism is
called

a) Differentiation  b) Organogenesis c) Morphogenesis d) Totipotency
o UWilmeiten @ HTeuy OlFed, (PIDdH SHTEUJLTS 2 (HEUTHEGD &HIms
BIPHBHEMLUTH]  DHLPdHBLILI(HEB MBI

a) rEUTH  DiHL FH6D b) 2 _mili&HenTé &b

C) UBSHCHTBB 2 (HaIHDBID d) wapssmeil GLBsTeTemNLD

If A=26, SUN =27, then CAT = ?

a) 24 b) 27 c) 57 d) 58
A =26 araifleo SUN = 27 steirid 1@ CAT = ? (etaianiaumsd  Glmab@GIng)
a) 24 b) 27 c) 57 d) 58

In a certain code, if TREE is code as 7100, FROG as:2159, how is FREE coded in
that code?

a) 2100 b) 3100 c) 1003 d) 1002

Floo eiBssllsi epsvid TREE ai6li3 Spmidblev sl(pdhHma 7100 6T6im  6I60T600MTs0
GMIUIL(bo, FROG 61603 Smidlew. 61(0&Hm& 2159 steni  sTemistrmed  @GmIui(
O&u1gT60, FREE 61603 _SBIEI60. 6l(lp5Hens eredsuryy @nluf(heliassit?

a) 2100 b) 3100 c) 1003 d) 1002

If CEG iswritten as TSR and FHJ is written as QPO, then IKM is written as

a) NOP b) PON c) MLK d) NML

CEG aaliB S midblev el1pdhdldhdemne TSR alen slupdlenmed, FHJ eT6iim  o1midble0
sTpHAHIBHmeT QPO e1anr sTapdlenmed KM 6163 oimidhlev 6l (105 HIdHHMm 6T
eTeleUTmI 616 T 6T ?

a) NOP b) PON c) MLK d) NML

If ‘Green’ is called ‘Blue’, ‘Blue’ is called “White’, ‘White’ is called ‘Red’, ‘Red is
called “Violet’, then what is the colour of grass?

a) White b) Violet c) Red d) Blue
HIBRIGENE0 LUFeNTFeUl HEVIDTHAID, Hev HmHmdm, Glalsiener eaaald, GleuesTemer
bBHMBEF Feulll] 6ead, ol HBHmas 20MFHT BB 616D FnnilenTsd
LeveVladl HILD  616dTen?

a) GeusiTener b) sasmT c) Fauliy d) meoid
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If your write down all the numbers from 1 to 100, then how many times do you
write 37

a)11 b) 18 c) 20 d) 21
@emledmbal 100 cuswy eleuiidene HRIHsH sTIEHDCUITHI 3-6T6i3  6T6UNENUNN
STHEHEMEM (P 6T(LSHIeuTI?

a)11 b) 18 c) 20 d) 21

Choose the number pair / group which is different from others

a) 34-43 b) 55-62 c)62-71 d) 83-92
UlslTeu@®d @ sTenibelled eTemed Geumiul (heiTenan?

a) 34-43 b) 55-62 c)62-71 d) 83-92

If in a certain code language ‘GREAT’ is written an ‘GRETA’, then how will ‘FIGHT’
be written in that code?

a) FIGHT b) FGITH c) FGIHT d) FITGH

@M GUUILL @nufiysmerl LweLhis ‘GREAT 6iadim st endsullemet
‘GRETA’ stent etapasiii’ 1_mev ‘FIGHT' al6iim aumdhensbuilensn 6ibbhd @BuUTl 1960
6T(IDH6OMLD?

a) FIGHT b) FGITH c) FGIHT d) FITGH

Find the correct answer of following pairs:

7544 :5322 .:4673:7

a) 2367 b) 2451 ¢) 2531 d) 4472
giwrer allenLenwid @enibLly. e mealaaBnier @lenamruirer 6lewr 6137
7544 :5322 ' : 4673 : ? '

a) 2367 b)2451 c) 2531 d) 4472

Effective communication will make the receivers
a) Enjoy it b) Accept it

c) Pass it on to others d) Think about it
WadF Fmbhsd SHeEaucmearsl GluBLaen)

a) walpeld @i

b) @liysCsmsiten  eneaubHEID

C) BmeuTasel b GFmebsy emsIEGLD

d) @nsiuny fbsds sneudbEid

A class of girls stands in a single line. One girl is 19" in order from both the ends.
How many girls are there in the class?

a) 27 b) 37 c) 38 d) 39

@@ sUGULsnBUIleVIsITeT  LoTemallSHeT  Dfmenal(HlD @@ CBTGHT (5 sullemnauilsd
Blemsit. 19-i0 @l Haevleisn e WTewiedlH@E 6lsvll LSS WBHJID B &Hl LSHHLD
FyrFfuTs TemalE6T G MmbHTe, DbEH suGlumBLIssTar Glondg wremel el
eTohdHemenm GuiT?
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a)27 b) 37 c) 38 d) 39

If ‘'NEUROTIC can be written as ‘TICRONEU’, then how can ‘PSYCHOTIC' he
written?

a) TICOCHPSY b) TICCHOPSY c) TICCOHPSY d) TICHCOPSY
‘NEUROTIC' aisiip  sumithemsuilsmen ‘TICRONEU’ ststiyy  6T(108LILIL L 60,
‘PSYCHOTIC' st6ii3  sunii engHullensst steueumml eT(oghieiaser?

a) TICOCHPSY b) TICCHOPSY c) TICCOHPSY d) TICHCOPSY

The transmission of culture from one generation to another is called

a) Acculturation b) Enculturation

c) Interculturation d) None of these

R0 HMOPOBUIETHEGID WBOBTEH Hameo(wanpulamb@Gn en Gu giupiD
&HEOTFFT] LOMMMLD 6T6ILIGI

a) SbHL HeoTFFTYLD

b) mra&fs wwioTEs@&Hs0

C) GlenLBlensv HEOTFFMLOWIDTEEEH60

d) Gumseniaubnfed ssidleomen

of the state is efficient
a) Administration b) Demaocraey
c) Policy d) Autocracy
LOTHIEVGH DI - HIBENIOLLITETS)
a) mliteursid b) saemmTwIBD
c) Gemsitnes d) areundenyb

a pair of wards is given. Find the correct pair of words filling the question mark
will.the samerelationship as the given pair

Wife: Marriage : : ?: ?

a) Bank : Money b) Nationality : Citizenship

c) Service : Qualification d) Attendance : Register

@@ Cxamg aImThHamad®seT GleTBHHIUL (HeTengdl. Q6% wralfl GhT TusmLw
auNTHmsep Cammgenul CHiTey GlFUIgh GCHelalldh@GmILsTen @ Hendpll L THS
GlFuIwa|D

eneiall - amieonp - - 7 - ?

a) eumiss : L6WID b) Gsdflwib : @wfiemio

c) umfiBremen : HHS d) eumenad : uZCeu(h

Another term used for interpersonal communication is

a) Group Communication b) Face-to-face public communication

¢) Dyadic communication d) Traditional Communication

2 smiu@Guunuisilsnsr 6163 HBauew OISTLTL suTTedHengdamul Gaim stsisummi
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SIEMLE H6EVMLD
a) BWH OBHTLTY isbevdl GUoale HBaish GIGTLTL
b) wsb GHTHa QU HEeusv uflMBBD
C) G\maNlsmsrr T HEBsuew LIMLOMBNBLD

d) umpmbufiu apemmuied FHaeied UFTHMLD

In a certain code language, the English alphabets are replaced by numbers. The
numbers corresponding to the alphabets are given below them. But, the numbers
are jumbled. Find out which number suits the correct alphabet.

ABLMS

QRLBA

PTQAB

LRNPQ

ATRNP

24538

93526

52601

93716

29071

MSPTQ

QPNAR

RABLS

TSLBA

PLQST

84106

16729

29583

80325

31860

What does the number 56878 represent?

a) QBSN

b) BQSN

c) BQNS

d) NBQS

@@ mBs Oomplullsh, Smslev IIRSHHIBEHHEGL LISHlevTd, eienmlehsT 2 6iTers.
SRIBED TS BIHEHDH G SIENETUITEN 616001 dSGLOUETTENSI. SO0, 6TEIH6TT
HOHBIGTONHL. 6ThSH HHIBEO TSP DS 61HSH GI6WI 6160 JHBIbH!

allenL_isTld SHeLD.

ABLMS

QRLBA

PTQAB

LRNPQ

ATRNP

24538

93526

52601

93716

29071

MSPTQ

QPNAR

RABLS

TSLBA

PLQST

84106

16729

29583

80325

31860

5678 eIe0I3 616001 6TenGHH HMlsHEHWD?

a) QBSN

b) BQSN

c) BQNS

d) NBQS

Read the following passage and answer the question

A, B, C, D and E are the five employees working in a company from Monday to
Friday. Each one is working for only one day. D and E will not work on weekends.
C will work on the day after E is working. D will work on the day before the B’s
working day.
Who will work on Monday?

a)A

b) B

e

d)D

BpBHMIL USHHlenwil LgHan Bssielld@mil LgHsy &HHsm.

A,B,C, Diwpmit E salul sba Ceausmeowimt &6l @@ Himieuens s  a5migsei
apHev Glanstat aueny Bausmen GFUISBITHNT. @EIGOITHAIGID @ BT 1oL (BID
Geusmev OFuidlsiiment. D wBmid E sury Gimisyl mrlseilsd Geusnsv

Gauwiwnom’ Lnitaet. E Ceuemev GFiiensdm@d AbhHd Hrsit C Geusnev GlFuwieumt. B
Couemev GFUILH BITEHHE e Hlemd D Geiemev LIFLIEUTT.
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Sl Slpsnip Geuensv GFUILENT WITT?
a)A b) B ¢} C d)D

Below are given marks of two candidates P and Q in four papers each. Study
these marks and then answer the question

Candidate P Paper | Paper Il Paper lll | Paper IV
Maximum Marks | 75 ' 100 80 70
Marks Obtained 45 65 50 35

Candidate Q ' Paper VI | Paper VIl | Paper VIl
Maxmum Marks 80 75 100 70
Marks Obtained 56 44 40 42

Considering the performance of P and Q together, who has put up the best
performance in which paper?

a) P in paperll b) Qin paper V

c) P in paper| d) Qin paper Vi

P ummib Q elenid @i(H LOT6MIRITSSIT, [BI6I@ UL R&GsTe0 GIIBn &6
&Cp ieMbas UL (hsiTemer.

LoTemieuT P sreir || smair &reir I srer 1V
BB F 75 100 80 70

D& IGIL16m0T
GuBB a6l |45 65 50 35

wTemienT Q Hrsit VI sreir VI
3D BT 80 75 100 70
LO&5) 16l 3606T
UMM &G | 56 44 40 42
P oBmib Q @msufledr waHlGuemisenst QUL ([, WTT 6MhHll UTLHHs0 leF
Fpliutes CHTsFdl GUBMITENTT 66 Fnpls !

a) P staotusu  Hmeit 1 @ls0 b) Q stsitueut et V @b

C) P sltueuiT Hsir | 360 d) Q staitLieuT  Smeit VI @60
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99

Refer to the Diagram and answer the question.

Rectangle represents Males

Triangle represent Educated

Cricle represents Urban

Square represent Civil Servants

Who among the following is a male civil servant who is neither educated nor
belong to urban area?

a)7 b) 13 c)d d) 1
Oam(hHHlsiTen LLSHma Ll uUTidml Coeialdmemnd@Gl LSy HFayn

7

75 I

g
6] 13

11
4q

1;

OFsleumBD SENIHMENSH HNlBDHMHI

(1LpdCHmMILD. LI HHUTHMeTH  GHNSIEDMH

QIL LD BHBEJHHO audFllucuTEenstd Guldangl

FHID GHigenioll usnilullsd 2 siiGenmmemyd  @GHmlH & BaI

SCIpUETeTIBMIEL 61851 LIQSHHIHID DsvevTdh HETHHe0 audFlIGuTmd DisveoTsH
Glgenioll Lenflulsh BIHEGID T 6w HUMTS HNHDHMSH?

a)7 b) 13 c)4 d)1

Study the following information and answer the question given below :

Six friends P, Q, R, S, Tand U are sitting in a row in the North direction. R is
between P and T, Sis not in the end point. Q is immediate right of T. U is not at
the right end. Whois to the immediate left of R?

a)T b)P c)TorP d) s
OaT(haslul (heien Haeauensoll LgHel, HIp 2 66 BoataldaEnad@ll Ldleo
SHILD

P,Q,R,S, Tmmib U o185l 2im HeoiLTHST sl b@ Cnréhdl auflmaurs
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SloThHGleTenanT. R elsiitieuT P &@ip T d@io HhHGea 2 eienmit. S eleimLsuiT
HMLSHCHMgUilsy @lsvsmev. Q elaLaUT T &H@& QUOBILBHHI ABHHHTH
2 sitenmit. U 6l6iiLsdT sIeVHILIMBS Sl HBHMQuiled (BleLen6v.

R sersiiLionT QUL SHILBHH L DbHHHNH 2 sitemsu wimir?

a)T b)P c)TorP d) S

Read the information and give answer

There are 5 persons P, Q, R, Sand T. One is a football player. One is a chess
player. One is a hockey player, P and S are unmarried ladies and do not
participate in any game. None of the ladies play chess or football. Thereis a
married couple, in which T is the husband. Q is the brother of R and is neither a
chess player nor a hockey player.

Who is the hockey player?

a)P b) Q c)R d) S

HHOUMBD [holl& LIgHal, UH6L HJeb

P,Q, R, Swmmib T si&lul 5 mUTHST. @medT &meolibHl offT. @melT. FHiymhis
olyT. @meuT amrsasl offit. P oBmid S ou&lGunT &m0 neTd IDH6Ti.
DIITHET 6IHdH  MENETLTLIQEIND &H6vhEHl GlETaTeNTHAITE6IT. 61hH0T(H D& 61T (LD
FERITRIBCIOT, SHTOLHGHT MENSTWITL lls0ensv. HlHEMILOT @ Goamguilsy T
oTeiLIGNT HeooeuT Seun. R wmpmid Q F@smagTaemmeut. Q Fapmis offCym
Slevevdl amrhd offlrm dlent Wwimg)

GleuTseriev ammThsl fT wimm?

a)P b) Q )R d)s

Read the information and answer the question

In a school, there are 5 teachers. A and B were teaching Hindi and English. C and
B were teaching English and Geography. D and A were teaching Mathematics and
Hindi. Eand B.were teaching History and French.

Who among the teachers are teaching maximum number of subjects?

a)A b)B c)C d)D

HBHEUMEL BENEG LIgHdl, UBHled HIeyd

@@ Ueslamulsd 5 S Ffluirsesit 2 sienemt. A wBpid B enfbguln, omisblso(pd
&BmISH HmPleniment. C wBmID B symsleopd, yellwliwevid &BmId HIHE emsir.
D wbmib A safisupid, andbHun HBmIH Smdenmsnt. E wBmib B suysummid,
UOyeh&D HBMIH H(HIS HIBEIT

WInT 185 eTenemllbemaUley LML MIGeNsTdh SBMIF & (HaS 66T !

a)A b)B c)C d)D

Read the information and answer the question.
Five books A, B, C, D and E have to be proof read in 6 hours; one hour needs to be

spent for one book. A break of one hour is to be taken in the 3™ or 4™ hours. The
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proof reading cannot start with A and has to end in C. D has to immediately
follow B with no break in-between. A cannot be done immediately after D. A has
to immediately precede E with no break between.

Which book is to be proof-read immediately after the break?

a)E b) D c)B d) A

HEBUMGY B UIHHI, UFH HFed

A,B,C, Diopmib E suau1 5 s assmisanst 6 woanll CHrisHsd Lenp HlimaHsio
GFuiw Gauembl. (@M USsHBHHMEH @ Wwewl BnIsH GlFwaiL Beusm(pd). 3
SiosvdHl 4 el el BCrIHHsv, @m wewl CryL EenL Cousnem @uisy sbHHIs
Q&meiemevmid. A 6D UbSHEHHe0 GIHTLMISToN, Uanp HmddHd C amib
UddHEHDHe0 (pipul Ceusmihn. @ent Ceusmenuisveoriosd D elenid LbHHsD B
UHSEHH6 Llenp HHhHHHHMGU el GiHTLms GCeusnihn. D stenid 1&HHHL
Usnip $HhebdHbHm@& s 2 1 Geor A sleadid Ushdsll Uenp &H(hHeld
OmT_misd amiral. @mL Bsusmsmuilsbeoriosd A stsid LHHH Lienp SHlimsHsHio E
GIID USHBHHMEG GHTmsiu Geausmr(hb

a)E b) D c)B d) A

Read the information and answer the question.

Having set out from home at 10.25 am, it took.-me about 28 minutes to reach the
railway station. To my relief, the train was late by 42 minutes. It finally arrived at
11.25 am. If the train had arrived on schedule, by how many minutes. | would
have been late?

a) 9 minutes b) 10 minutes c) 11 minutes d) 12 minutes
HBMM el LIghSl, CAeTIBEnHG LIFH6d HIoId

sTsmev 1025 1osmiid@E, ol 19edlmba LUBLIUL L elardh@E, @gullsy mlsneouid
OlFeimenLsuBBE 280 HIOIL MS6T sFl, 6601 AFHTagd @Fuilsd 42 BHILOL missi
SHMNOHIOTSH AWbHH. DiH HenLFlulev &Temsv 11.25 wewlb@ eubd CFTHHH. @
Geaemem @yuiev GBies Chyiuy TurTs suhdHHHTEL, [HTEN 6T6U66TT6Y
BIOILBISB6T  HTogoTasiwilmliGuesit?

a) 9 PO Missl b) 10 pWllLmisst ¢) 11 BpullLmsst d) 12 Bl misel

Study the pie chart and answer
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The marks obtained by a student in Maths, English, Hindi, Science and‘§$‘3cial
Science is given ¥
Full marks of the examination is 540

In which subject the students has got 105 marks?
a) Maths b) Science c) Hindi 4 ‘
MU GUIUL HeNS Heild LIRSl L TouL

@

Ligleb

i

AN

Columnl

¥ gy mIGl6VLD

" gfalwied
“Feps MiaNwed
)

¥ g6utT GLD

SN HID, HyRISWD, MalwsD, Fips DM alsd wWBBID amihs D&
UTLBIB6Te0 @@ LomemieuT Glumm WwaHILGLHEsT el auenIUL&HHe0 2 6iT6TH
CaTalsit OorTHs WHLGUDIS6T 540 G

Sbd TIT 6lHhHI LUTLHHe0 DHE wHIbuest GLBmT?

a) @enilHD b) omeluwe c) anfibs d) oymaeob

106.  Study the table and answer the question
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Age Group Percentage
Upto 15 yrs 30

16-30 yrs 22

31-45 yrs 18

46-60 yrs 16

61-75 yrs 09

75 and above 05
Percentage of total population for 2011 under different age groups is given
If there are 45 million people above 45 years, then how many persons will be
there in the age group of 31-45 years?

a) 3 million b) 27 million c) 36 million d) 25 million
SILLauenemienll He@ LS, CoeTalbend@l L&Hed SHIajb

QILIH] GUTIDL & &Hell &l HLD
15 suwi&kl eueny 30

16-30 suuigml 6eD] 22

31-45 RIWIHI 6U6D] 18

46-60 sULIKH] GUED] 16

61-75 suWIGHI 6U6DI 09

75 suwigHIB& Guwsd | 05
usvBaumi UGBTI 2 66 GoTdhd WEHHET LlGTamsule FHals sHip
Garhasiul (hetengl (2011 o600 gIeML LWIFH])

45 suwgHmE Gusd 45 LSS wHDHeT BMmbHTev, 3145 auIbLB@&H6T 615HH et
Guir @muumiassiT?

a) 3 euedller b) 27 fle0eSluisin

c) 36 wlevedluien d) 25 wleveSluisir

Read the information and give answer.
In the Olympic games, the flags of 6 nations were flown in the following way:
The American flag was to the left of Indian flag and to the right of French flag.
The Australian flag was on the right of Indian flag, but was to the left of Japanese
flag, which was to the left of Chinese flag.
a) Indian and Australian flags b) American and Indian flags
c) Japanese and Australian flags d) American and Australian flags
HEBUMEL Hell@ LIgHal, ChsTalbeEnd @Gl LUDHeL HIQD.
@60IDLIs allemenuIm 1960 6 HI(HH6Me ChHHluIbd 6BETgHsT HGID 2 sieToITm
UGS L LI 19(hHHSH60T.
26iofldaad Gamg Bihasuds Gemguist @1 & LBapd, 6Fehads Glamgu s
QUVSI LBUPID LBHSHE!-
SL0FCradlwes Gemg @haluds GlaTguilst sieodl LB, Ferd Glemguiler
@La upd uphal GlaTeuig®mbs DMUTelluls GaTguish G &l LML UBHBHHI-
6llbsh @yeoii(h Ommgsseit mHBelled LIMbHMT
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a) @hAwr wHpID eLHCredd OBTQHs

b) =20iwféas wBpw BHdHlws &g ss

C) siumeiwl BmID SLEVSHIBTedWS G&mgHel
d) owfidéss wBmIb DebaCrefluids 6amgHsiT

Read the information and answer the question.

When ordered ‘One’, a person has to put one apple in a basket, When ordered
‘Two’, one guava has to be put, When ordered ‘Three’, one orange has to be put.
When ordered ‘Four’, the person has to take out one apple and one guava from
the basket. The order sequence the person is:
12332142314223314113234

a) 10 b)11 €)12 d) 13

At the end of the sequence, how many fruits will be there in the basket?
HBUMED Hell@F LgHHl, CoHsalmeEnsd@l UsHsy SHIab.

‘arml’ sler GFTeLed GUTHI, @M 6T, @M JIensT (&I emuuisd Guir
Coewtpd. ‘Gyewi(h’ eTen GlFmsogud CuTEl, @®m GlamuIwTenaU|D;. ‘epeiiyl’ e
Gamebad GUTE, MM DTehenFUD HHHIT enuiled Gum T Geuswi(hib ‘HreTE’
olel Gameoeud Bumaml, bH& BUT »LULIEOHHEH @@ SLLeDeTUD, @b
Gamuiirenailid GleuaiCul sihéd Calswi(HID.
123321423142233141 13231

a) 10 b)11 c)12 d) 13

The Questions has 3 words and 4 diagrams as optional Keys. The diagram that
depicts the correct relationship among the 3 words should be selected.

3 words : Vehicle, Car, Jeep

b) OOO ) d) Qo

a)

@ha elemelsd 3 TTHMBHH6T OBBID 4 eumIULmIET CHTHOHhohd GCalsmmgul
QMUILILTSS GISTHEBILL(H6TeNEH. DbHH 3 CUTTHM HbH(ET S 6Nl ECULILIT6
GaTLTeHUF FiWTes FHHMNeHd migul aumIULSmsd CHTH0SHHES Gausur(HLD.

3 UTTHMBHEHET : QUTEHID, ST, 897l

00 i , Q0

In a certain code ‘TOGETHER’ is written as ‘RQEGRICT’. In the same code,
‘PAROLE’ will be written as

a) NCPQJG b) NCQPIG c) RCPQJK d) PCTQNG
Fgmbamn @muiligsd ‘TOGETHER' &3 ‘RQEGRICT arenr s1@oslii (hsitsnigl. 6%
Fgmlasn @Muiligsd ‘PAROLE’ siaid suTTHsnad 61(OSUILI L T6D

a)
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a) NCPQJG b) NCQPIG c) RCPQJK d) PCTONG

In the given diagram ,find the number of triangles and square hidden.

a) 36 Triangles, 7 Squares b) 38 Triangles, 9 Squares

c) 40 Triangles, 7 Squares d) 42 Triangles, 9 Squares

@M (HHSUIUL(H6TT6N  UMNTLIL HEHEL 61HHMEN FHIJRIGLT OBMID (P CHTemmIgH6T
661T H&I6TTsTT60 7

a) 36 (1p&BHTERIET, 7 FHITAIGET b) 38 (1p&CHTemIRIBS, 9 FHITHIGH6I
c) 40 (p&ECHTEMBIESIT, 7 &FHITHIHEIT d) 42 (1p&ECaETemImIE s, O FHITBIH6I

The Average age of a cricket team is 27 years. Two playerswith 24 and 27 years
of age are replaced by two new players of 23.and 28 years of age. What is the
average age of the team now?

a) 27 b) 26 c)24 d) 28

@M HMEBOBE SewlulsvisienealTaeiier FFTFm gl 27 UTHEBET DLGID. 24
IoBmID 27 euuIGenl Ul GIHOHEGIT LHeoTd 23 1oBmIDd 28 aIULIBIGTT BmaIT
Uaates Carhaliul_(heimenert. @ICUTH emflulsvsiTeneuidaian Fyrafl awigl
6T60m60T !

a) 27 b) 26 c)24 d) 28

466
341

250 ?

a) 298 b) 232 c) 350 d) 268

A watch shows 1.30p.m. If the minute hand is towards south, what is the
direction of the hour hand?

a) North b) South-East c) North-West d) North-East
@@ OssTIn waHund 1.30 wsnllenuids &r(héimal. Bl (wpsiT blsBens

Crrasl @muler, wsnfl &T (B (p6iT shHH HmaFmul Crréed EHmeb@?
a) aILsE b) Gz dlipd @, c) o CuomE d) auL Shpde;
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Find the wrong number in the following series:

8,14, 26,48, 98, 194, 386

a) 14 b) 48 c) 98 d) 194
@\ha sufengullsusiten Heumsmen slsmrsnsmids  &emnr(hLIg:

8, 14, 26, 48, 98, 194, 386

a)14 b) 48 c) 98 d) 194

0.5,2,5,(?),15.5
a)5.5 b) 9 c}12.5 d) 9.5

Select the series in which letters are not according to the general rule.

a) PRTVXZ b) CEGIKM c) MORTVX d) ZBDFH)J
GuTgisuTar gLy Be0NsH 6I(SHHIGHET 2 66l LIGHTLmIsH GCHTHbls[HEHSMLD.
a) PRTVXZ b) CEGIKM c) MORTVX d) ZBDFH)

What is the product of all the numbers in the dial of a telephone?

a) 1,58,480 b) 1,59,450 c) 1,59, 480 d)iNone'of these
OnTemsuBLFIUT6T UPHLILS HBLIGED D 66N DenaidhHl. slemidbemen GCLmHEE&HH
Q&Hmems  slentsnn?

a) 1,58,480 b) 1,59,450

c) 1,59, 480 d) @aummleb.sraiaslsbensd

In the given figure, if the centres of all the circles are joined by horizontal and
vertical lines, then how many squares can be formed?

BIPHHEMIL aUsNILIL HFH60 2 6161 Il L RIHsIT6N eNIDUIMIGsNST &Hlsmi_ 1o LD 1DMmID
Olami@HsTans Banbasnensd GlETai(h ([@enemishHTe0 615 5N60  FHIT BB
SHlemLb@EHID?

a)6 b) 7 c)8 d)1

The number given is 5894327614. We interchange the first and the second, the
third and the fourth, the fifth and the sixth and so on. Then when we count from
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the right end, which digit will be the sixth?

a)3 b) 2 c)4 d)5

OBT(HEHBILL (6o 6leml 3894327614, @&l60 (LpSH0, EYT60ILITID 6T6001&H61T 6 6HN3I 60T
@ HFO BCMTEYID, WPSTPID-BISIGD, RHHID-HMD B CuTeim wHY
GTaMTERETHID @l 1D DT ILIBAETIse. Iodl GHMUiled GlBHal 6TemTemnlamed 61hH
GTaMT SMTeNHI B HHL B(HdHEGD?

a)3 b) 2 c)4 d)5

If the third date of a month is Sunday, what date will be three days after the
fourth Wednesday in the month?

a) 24 b) 27 c) 29 d) 30

R0 WISHIIG ApeiBTaIG BT EHTUIBBISSIPMD BHHHTO DbDH LTHSH| 6
HTETETEUHI LIH6TDH NS E OGTHI BT HEThé @I LI6T6mT 616l B8 WITH
BmeEEW0?

a) 24 b) 27 c) 29 d) 30

In the merit rank of a class of 50 boys, a boy occupies the 31 place from above,
what shall be his place from below?

a) 20 b) 19 g) 21 d) 18

@M uGULIepeTer 50 LoTEOTENTH 66 105 IGILISHI Sl 19ulsdled @  LOTEHT6M 60T
Cuadmha 31 aim GBI HmE ISGEHBIGRSID HHEI DeuaTEl Bl 1D 6eTaTalTs
@maé@?

a) 20 b) 19 c) 21 d) 18

8i+60%0f §=15—(?)
a) 5.55 b) 6,27 c) 6.03 d) 4.13
8:11+§ & 60%.= 15= (?)
a) 5.55 b) 6.27 c) 6.03 d) 4.13

?

64

a)64 b) 56 c)58 d) 72

616& sTeoireoniTeordhl EAFent(h Cepsiolleds @nfiesmenmuyid MHFlIL (1PIguib 4—:) =é?
a) 64 b) 56 c) 58 d)72

Which number should replace both the question marks in ? =

A pen costs Rs.7 each. A scale coats Rs.5. X spends Rs.38 on these stationaries.
The number of pens purchased is

a)2 b) 3 c)4d d) Data inadequate
@@ Guenmadlsit ailensv h.7. @ AeMe)BHTellen allensy 15.5. X  a@LaiT ¢h.38 &
@ @sIeNL WD ITRIBETT. DeuT suTmISIL CUETTEHSH6N 61 HMm6n !

a)2 b) 3 c)4 d) elleugio BuTmTHI
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Which of the following figures is different from others?
a) 6385 b) 7496 c) 3658

BARETeN 6IhG 61601 LoBmeumledmhal rmILL 19Hdb:a ma?
a) 6385 b) 7496 c) 3658

In the given series, find the number which is wrong:

10, 100, 1100, 11000, 111000, 1210000

a) 1210000 b) 11000 c) 100 d) 111000
Oam(hdsiuL (heiten slaml auflengullsd 6hdh 6leml HeuBTengl?

10, 100, 1100, 11000, 111000, 1210000

a) 1210000 b) 11000 c) 100 d) 111000

In the given series, find the number which is wrong:
2,3,4,4,6,8,9,12, 16

a)3 b)9 c)6 d)a2
OaThaslUL(heiterm o6l auflenguiled 6hd 6T6WI HAUBTENHIT
2,3,4,4,6,8,9, 12, 16

a)3 b)9 c)6 d) 12

49 :x=x:4, Find x.

a) 16 b) 14 c) 10 d) none of these
49 :X=X:4, 6l6liMIsL X — 601 D&M HT60IH

a) 16 b) 14

c) 10 d) @eumilev eimeND E60MEV

If we getthe same number on adding 32, into the 80% of a number, then which
willbe that number?

a) 16 b) 160 c)32 d) none of these
@ eclemtenilen 80% FHaldHsbHHI_6T aem 32 mF BFTHHT60, DICH 6l
BHIML_B@GHIOTETE0, DHSH 6Temwl 61517

a) 16 b) 160

c) 32 d) @aumbnev emIeD @606V

28 students were divided into three groups, A, B and C. Group B consists of twice
the number of students in Group C. Group A has half the number of students in
Group C. How many students are three in Group C?

a)4 b) 6 c)8 d) 14

28 wranauTae A, B ioBmid C elenild elpeiiml G obEHenmasll Ll &bl enmen.
&o B. ®ap C Blev 2 eiengl CuUTeiml @)H WOLAIG LOTEmIITEmeNS OlbTemL g,
GWw A @sv , &1 C B0 2 6endled uUTH eTemienlibend DTMIETH6T 2 6TI6TEIT.
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& C @El6v 2 siTen OTeWIGUTHET sidhHemen GUIT?
a)4 b) 6 c)8

In the following sum, ‘?’ stands for which digit?
T+E1P4+224+73+71=217
a)4 b) 6 c)8
Lsieu@ld &emibdley ‘7' alendhd GHMlbHma?
?7+1?+27?+7?73+71=217

b) 6 c)8

b)% c) d)%

The average of four consecutive odd numbers P, Q, R and S respectively (in
increasing order) is 104. What is the sum of P and S?

a) 204 b) 208 c) 206 d) 212
OmpTLTFFWTE: @nenmlumL semidats P, Q, Rwommib S (psnmpGu eypiautsnguisd
Pmha SiHar Fyraflwmeigl 104 o5 @mbSTe Pommid S Qe gl (b
QHTems  slcial6Te)]?

a) 204 b) 208 c) 206 d) 212

In the given series, find the number which is wrong:

3, 10, 27,4, 16, 64,5, 25,125

a) 25 b) 16 c) 10

Oar(hasiul (hsitem olenr auflenguilsd 6hap 616wl HaUBTangl?
3,10,27,4,16,64,5, 25,125

a) 25 b) 16 c) 10

Complete the series

48, 24,72, 36, 108, ?

a) 110 b) 115 c)121
sleml  auflengdh GHTLsnIll 1THE GlFUILIR|D.
48, 24,72, 36, 108, ?

a) 110 b) 115 c)121

The value of l35.7 — (3 + ﬁ) — (2 + fl)] is
3 3
a) 30 b) 34.8 c)36.6 d) 41.4
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g7 n: 1y 2 @i
{33.7 (3-!— 3%) (2+ 2%)‘ (@0t

a) 30 b) 34.8 d) 41.4

(243)°13x (243)%°7
(7)°25x(49)°-075x(343)°2
3 z :
a); °)3 4%
(243)913x (243)0:07 : 3
(7)0-25%(49)0-075x(343)0-2 @@ﬂ LD,&)r]ULl

3 7 2
a); b); d) 2;

The value of

Which should be the correct signs to balance the following equation?
17-3x6=45

a)x,=and - b) -,xand = c)=xand - d) x,-and =
Ueireu@ld Fwsrurl_enl Fp GFlud eiswrs 2 LBwrasliubhsHd Gauamigu
gilwmenr GMUI L& BCHTHbisHHHBHMD?

17—-3x6=45

a) X, = WMmmIb - b) -, xoBmnd = C) =X B = d) x,- oBmID =

Ifx :y=3:4,Find (4x + 5y) : (5% — 2y)

22 22 32 32

X:y=3:4,emfled (4x +5y): (5x=2Y) @60l A IDLID HIT6E0I5S.

22 22 32 32
a) 7 b) ; C)7 d) ?
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